X% 13"7 'oIn 2,78 n"a .7"02

— YA 297 RN SN RAW
Shall we say that it will be a refutation of Rav Nachman

Overview

The & n3 asked that our 712w» which maintains (in the case of a X1 2°Xwn) that 12
727V "2 X contradicts the view of 1" (in the case of a M mMn) that we do not
say f°7V *72 (rather 7°X17 1°9¥ 1°amn X°X7). M0N0 discusses this question.

mooin asks:
= 2PN AN DIIN NDT DIV 111102 NY PN PNINND NN 9NN ON)

And if you will say; but the X713 shortly establishes our mwn» like 912219, who

does not follow the 1Pt -
- 315990 7902 YN 1N 1Y N
And 012110 maintains that we divide money which is in doubt as to whom it belongs -
= MNININY ITIAN 41 992 2N NNPYW)I 93 RN 2 DY 191H 99N
So therefore according to 012210, when there is a 82w 593, the 92 is stronger,
even to be 771 NIx -
= NI 19V 19%2N1) NONIND I1NY HYNRT 19299 19N AN
However 1''1 agrees with the 3229 who maintain 73''¥27, so since we follow the npim a
M2 cannot be X*¥1 from the 7P of the Xnw; there is seemingly no difficulty with 1" -
= 01212102 929V NN 191 29 ) ON

Or you may even say that 1'% agrees with £19210 that Pp21m oo Svn Pan —
= S9N 1PHY 1952010 NINININT SNINMINT XYY NIT NI D10 NTNT

! On 2,n% the X7n3 establishes the ruling of the mwn regarding P12 Y77 *1R MR A1 YT 1K I 77 that it follows the
view of 010210 that 1P 2502 0N 1wan, however the 13121 maintain 7"yn7, and the PXW is 2o,
2 The X is the prmn; the 9>Xwn wants to take his money; 019210 maintains that by a 750 we can be WnPIAR AR XXM,
3 The °xwn and the X do not know when it died so we do not know if the X is liable or not. According to 012210
this pa0 is ‘strong’ enough to be X°¥1 half the money from the prmn (the PR1); he pays for half a cow.
4 If a poo is sufficient to be X*¥ half (from a Xnw), a ™12 against a Xnw is sufficient to be X*¥m the entire amount. All
this is because 01om10 disregards the 17n npin of the PXWw.
3 See X271 71"7 2,2 '0n that (even) according to Momo (whose ruling is followed in this mwn; see 2,MX) we say 1P
(only) if there is a X117 X117, which means that when all the known facts are presented we realize (without even
listening to the claims of the litigants) that each party has a valid claim to the moneys involved. Here too, we know
that it was partially 728w and partially 72w and we know that it died, and both claim v7v *1°X; it is intrinsically
impossible to establish the time of death; therefore both the %W and the 2°&wn have a rightful claim to the money.
There is fifty percent chance that each one should receive the money. In such a case we say 12171 (by ¥71° 1K) or *M2
77, even to be 1nn X*x¥1a. The X117 X177 neutralizes the 1an npin. However when there is no 81117 X777 like in the
case of 1"1 where the po0 is created by the respective claims of the m7» (*12 you owe me money) and the m? (maybe),
[without their claims there would be no doubt (there is no reason to assume anything)], in such a case 012110 can agree
with 1"7 that 7"ynn.
¢ Therefore in the 73wn where there is a X717 X777 we say 7°7v 72, however in the case of 1"1 where there is no X317
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However even 2191210 agrees that where there is no X127 X997 that 7''y»i! Why
is there a 1"77 Xn21n from our Mmwn?!

nBoIN answers:
=792 PPININ 1NN 1IN MM PPIIN PADA HVIND 1IN NI NINRT VINVIVIT 91217 YW

And one can say; that according to 212727 who maintains 19217 poo2 HRIR7 T

it is considered as if both parties are holding the money (they are both pprmn) -
= 8557 29901 RNY 1)) 992 AN NY19197 119

So since according to 010110 the 92 is effective against the X»w to the extent that

the prmn is liable for everything -
92191 9199 19NN Y95 NAY 133 592 993 33ANT 99299 91505 1159 91 93 %90

We should say similarly according to the 3339 that the 92 should be sufficiently
effective against the X»w to at least say o,

Summary
010110 agrees that 77"vni7 except in a case of X117 X777 where both parties are PpImn.

Therefore the 3121 should agree that by X»w1 °72 we at least say 2170,

Thinking it over

Our mwn is according to 0190. What will be 01210 ruling where the 2°Xwn is *12
and the 70w is X»W in a case where there 1s no 077°1°2 712w POy according to 1" that
07y 972 IRH?

X117, we say 1"yni, and not 777y "2,
7 mooIn rejects the assumption of his question that 013210 does not follow AP [or that the X117 X317 neutralizes the
n npin (see footnote # 5)]. On the contrary 019110 agrees that we follow 171 npin, however in a case of XR1nT X777
the po0 is so intrinsic that on account of the P50 we consider that both parties (the 921w and even the 2°*Xwn) are prnmn
in the money (even though practically only the 221 is the actual prnwa), that is why the 2°Xwn receives half, since he
is P17 in half the money (it is like n*2v1a Prmx 21w were all agree P17m).
8 Our mwn (which is according to 019%10) rules that by Xaw 73w1 72 PXwn the *M1 is effective to be XX from the
P1mn (the 1212) the entire amount.
9 We are now assuming that when there is no X117 X777 both 019210 and the o2om agree that 7"y, The reason 0191210
maintains 1?1721 by a X1717 X117 is because they are both prmn. The np?na between 013110 and the 1127 is not regarding
7"ynn, but rather whether a X117 X777 makes the XX into a prmn (019110 says yes and the a°»om say no). We derive
from the ruling of 012m0 by X»w1 »2 that a »2 is stronger than a &»w for now the XX takes all. [Presumably he
receives one half on account of the X117 X117 and the other half on account of him being a *12 while the 10w is a
Xnw]. We have no reason to assume that the 1127 argue with this premise that a *72 is stronger than a X»w. So just like
according to 019110 the claim of 72 gave him [an additional] half [see bracketed area in this footnote], so too the 7127
should agree that the 72 receives half, not like 1"1 who maintains 5°7v 12 1R? but 7"va7. See (however) R"w277.
19 The mnan 937 (or w"2) may be explained that if by the 281w who has a 21 X»w, nevertheless the 2 is ®°xm (half; see
footnote # 9 in bracketed area), so definitely by 1" where the 7% has a ¥173 8w, the M1 (who has a 21 »2) should at least
collect half.
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